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Look at the angles to the right.
What do you notice?

Vertically opposite angles are identical.

A) Which pairs of angles are vertically opposite? List them in your book.
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B) Calculate the missing angles below.

133° 73°
73°
133° a
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//;r;gle f is equal to 7q:\\\\
| because vertically opposite )
. angles are equal. <

C) Do you agree with Annie?

‘ a No, because f is not verthang

opposLte.
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D) Angle Fis one quarter of the size of angle g4
Angle fis 28°. Are angles x and y vertically opposite? 139°
No, because f is 28° so gis 112° (4 x 28°) which makes I+O° in total. ¥ and g are not identical

50 theg can't be verttca[lg opposite which means x and y are not verthallg opposite either




